PHIY S '
‘1' v imog oo (LR T T
A\ Flosvmmuitns on Eirget pwvivmiain
Iqi E sy of Bl 1w rpvin
c Vialunses in hepl constam
D Tempeoratim is kel COnslan|

<. M 42 J heat in franafarred (o (e Bynlom

intoernal
A pay Oy Whon work dono In 32 g7 "0 expansiop, what |
B 104 - K
C 116 4 )
D 106 J
3. Tho 1 |aw of th
Mass Ofmodynamic is the Bonaralizay
el on of the law of tonse
c Energy -
Momentum
While stud

Ying ch
Capacitaneg Iaﬂknuh::;u ::g bia

E_Ie-:trhsta!in constan|

T[ma constant
ielectrie constant

Propo rtionality constam)

dis
charging of Capacitor, Re = Resisty
nce x

In parallel combinatj
- Ci+Cp -
B. 1Ci+ 1/C;
* C. CiCaiCy+ Cz:
2CiCa1/Cy + C:

on of two
Capacitors, thejr equivalent Capacitance jg equal to:

The S.1 unit of capacitance of a capacitor Is:

Coulomb
B. Vol
C. Farad
D. Ampere
1 kWh =
A, 0.36x10%)
B. 36x10%y
C. 36x10%) 2.
D. 0.036 x 1054 @
Volt x Ampere is the unit of:
A. Current
B. Vot
C. Resislanca
D. Power

If length of the wire becomes two times to its original value and area becomes one
half to its original value, than resistapce of tho wire becomeas:

A. Double

B. Four fimes

c. O hanif

0 Snuhat = s

k ey
Pege T of 30 & et T

;",,J. F 7 NOACES I-t"i
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| N ¥
/ a charged particle anters the magnetic field parallel, it will:
Deflect toward north

Deflect toward south  _ -

Move straight
Move in circular palh

C.
D.
The dimension of magnetic field strength Is same as that of:
A.

Magnetic flux
B. Magnetic induction
C. Work done

D. Magnetic florce

12. The weber is unit of measure of:
A. Conductance
B. Electric currenl
C. Magnelc flux
D. Electric flux

13. Thelenz's law is also statoment of law of consearvation of:

A. Charge
B. Mass
C. Energy

D. Pressure

14. In fleming's right hand rule, the second finger indicates:
A. Force
-B. - Magnetic field
C. Induced current

D. Molion
)
15. A current generator Is a devico that converts: ot
A Mechanical energy into electrical energy
B. Chemical energy into mechanical energy . '
C. Sound energy into mechanical energy
D. Electrical energy inlo mechanical energy
16. A device that converis AC into DC Is called:
& Diode SEE '
B. Transistor ‘
C. Capacilor

D. Inductor

17. Thae conversion of alternating current into direct current is called:

A.  Amplification
8. Rectification
C. Magnification
D. Resolution
418. In full wave rectification, diodes are used.
- A 1
B, 2
c. 3
p. 4
i
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|4
for half the number of atome of fadiocactive 8o nh‘ o

LY The Himeo taksn
in callea:
A Avornge life
n Mean ke
C Total hife

D Hall life

20. A J2g radioactive olemont decaya and remains 2¢) aftor 60 days, What is halt.\itg
thia radioactive elomont?

A 2days
B Gdays
c 10 days
D 15days

21, Ilthe car is slowing down along negative x axis than acceleration will be along:
A Posilive x Axis

B.  Nepgative x Axis
C. Positive y Axis
D.  Negative y Axis

22. The instantangous valocity along the curved path Is:
A.  Along the tangent
- Perpendicular to the slope
C.  Parallel to the radius
D.  Anti-parallel to the radiys

23, In perfectly elastic collision:
A.  Only momentum is conserved
B.  Only total energy is conserved
C.  Only kinetic energy is conserved
0. Momentum, kinetic energy and total energy, all are conserved

24, The slopeofa displacemont- time graph is equal to:
Velocity

]
B. Displacement 3
C. Acceleralion R
D. Distance "

25, ::ng?ﬁn; l.agru}n:lllu on a horizontal plane is same for the following pair of angle

B. 60&20
L. 75815
D. 50&325

26, The product of forge and time Is equal to:
Angular momentum
Force

ﬂ: Change in momen|
D.  Velocity .

01803
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ll_,
nject has 1 J of PE. What is lhu work done in terms of height?
1d
104
0J
01J

Power Is dot product of-

A.  Force and di lacement
8. Fores and ve

C. Force and time

D.  Woik and time

30. The area under force-displacoment graph gives:

A.  Displacemem % o
Power . d
C. Work

D. Acceleration

31. A body of mass 'm' Is moving with velocity 'v'. After a short Interval of time its
valulty_.hnc_nmu double. How many times its K.E will increase or docrease?
A. 2time increased
B. 2time decreased
C. 4 tme increused
D. 4 time decreased

32. The relation between radian and degree Ia:
@ 1rad =57.3°
B. 1°=57.3rad
C. 1rad=1°
D. 1°=1rad

33. In case of centripetal force the value of instantancous accaleration s given by:
A, ac=vlir '

B. ac=vIr
C a=vr -
D. a:=vr
34. An cloectric motor turns at 400 revolutions per minute. Its angular velocity In rad/s
will be:
A, 20m
K|
B, 30m
3
c. 40n
3
D. 30nm
4

e are rolling down from an Inclined plane

: d spher
25, ATdsc, 8.hoop anc .8 Sp reach at the bottom first?

simultaneously. Which object will

A Hoop
B. Disc
C. Sphere

D. Al al |he same time

01803
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38.

39.

40.

41,

42,

43,

Ee= mw®
Fe = mirid
Fe= mrw”*
Fe=mrw

COoos.

in the following figure the wavalength Is:
T Y .
T

L

am

A 2m

B 1.5m

C. Im

D. 0.5m

With increase In pressure, the speed of sound will:
A. Increase

B. Decrease

C. First increase then decrease
D. Remain lhe same

In transverse waves, the portion above the mean level is called:
A.  Wave front

B. Wave crest

C. Wave trough

D. Wave length

The maximum displacement of particles of 2 medium, on either side of the mea
position of a wave, is called:

A. Wavelength

B. Frequency
C. Amplilude
D. Creslt /
BIOLOGY

:i::igz?dium lons) are nearly times greater in fluid outside the cell th
A. 10
B. 30
C. 2
D. 3
Which hormong induces
A" Eskoge labour pains?
B.  Oxylocin

Progesterane

LH
Hormone secreted |

nb
Anl.I-Dilrneuc Hor m:I_II: ?:Sl-tl? decreased water content of blood Is:
- ocin
C. GlUCagun
Page G of 28
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of production of neurotransmitters is: ¢
Postsynaplic neuron

B8 Prasynaplic neuron

C  Synaptic clefl

D Dendnte

45. Endorphins are produced In:

A, Brain

B. Adrenal gland
C. Stomach

D. Thymus

-condary soxual
46. The hormone responsible for production of sparm cells and male 59
characteristics is:
A. Eslrogen
B. Progeslerone
C. Teslosterone
D Thyroxin

47. Leydig cells are responsible for:
A.  Testoslerone production
B. FSH production
C. Sperm productian
D. Testosterone inhibilion .
ulate :
48. The estrogen hormone secretion during the oogenesis is stim
A Leutinizing Hormone
B. Inhibin Hormone
C. Follicle Stimulating Hormone
D. Testosterone Hormone

' trual
49. Which of the following hormones of the pituitary gland regulate the mens

cycle?
.J Follicle Stimulating Hormone and estrogen

B. Luteinizing hormone and estrogen
C.  Follicle Stimulating Hormone and Luteinizing hormone

D. Estrogen and progesterone

50. Which of the following tralts is transmitted directly from an affected father to only

his son?

A.  Autosomal
B. X-linked
C. Y-linked
D. X-Y linked

§1. When both the alleles of a gene pair are same, the organism is said to be:
A. Helerozygous
B. Genotype
C. Homozygous
D. Phenolype

52. This theory says that “mitochondria and chloroplasts are, In effect, ancient bacteria
which now live inside the larger cells"?
A. Darwin's theory of evolulion
B. Lamarckism
;. Neo-darwinism e AND
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58,

EBT

59,

60,

61,

62,

The tegans which s similar i funetion but diffef in slructiure arg g, N
A Arvinbisgunaan conpenen
L Flostrsadligonim on ) asies
L Comvirigonl organs
& Chiverrgenl organs

Which may NOT be a mode of action of an antibody?
A Nouliakzing an anligen

B Preciptating an anligon

C. Secretion of cylokines

D Enhancing phagocylosis

Pepsinogen Is converted Into Its active form popsin by:
A Proleolytic enzyme action

B. Dissolving in mucus

€. Homonal action

D Hydrochlaric acid

Intrinsic factor is secroled by:

A Pancreas
B.  Liver
C.  Stomach
D.  Duecdenum
The cell
A. M; which play very important role in developing Immunity are:
B Neutrophils
Lymphocytes
rombocyles
Digestion of wﬁi:h food
Proteing od component start from aral cavity?
Fats |
- Carbohydrates
D.  Vitamins

Vaccination is an example gf :
Nalural pagsive Immunity \
:I:Iurai aclive immun

The heart ehap

Left “mmrr from where aorta originatosg:
¢ ahventricle
b " atnym

Right atriyen
Puble sym
A th“ll and
B Fibrous loints nd intgr Vertebra| disc arg th
c H'l il joints ® éxamplo of

; ANy
O Glding g 1°11s
Ca
fo iy

A More difficy
B v '::ﬁmlar Buppltl 19 heal thap bone becays,g Ciiin
E' * Hay Iaur:m' depositg N may -

Lﬂd\‘.ﬂ fr Umber g Cells de S

Stein in he ep down
Fage mol 28 01803
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ich fEEhII'E is absent lrom cardiac muscloa?
Intercalanted dise

n
i Multinucleate cells . -
C. L and dark bands L
. Contractile sartomeros
r
64. Sarcoplasmic reliculum of muscle fibers is mainly responaible for:
« A Caloum slorage
B. Prolein synthesis
C. Lpid melabolism
D.  Storing cell wastes
65. The Junction botween two nourons is:
A Impulse
B. Synapse
T Axon
. D Cleft
66, Which hormone is chemically a sterold?
A. ADH
B. Thyroxin
'@, 'Cortisone
- D. Insulin
§7. Under activity of parathyroid glands causes a drop in blood of:
.Fl. Mgu
B. Na*
c. K
D_ c_a'ﬂl
r
68. Which of the following protein establishes the matrix of bone & cartilage?
A. Elastin 3 -
B. Keralin
C. Collagen
D. Hislone .
69. Hun-cumpelluv; inhibltors react with enzymes at:
A.  Allosleric sile
B, Active sile
C. Passivesile
D. Regulatory sile
70, Most enzymes work the besl al the following temperature:
A 30°C |
B. 40°C .
c. 50°C
D. 20°C
71. Interm of enzyme action, ‘maximum temperature’ refers to a temporature at which:
A.  Enzymes slarl to denature .
B. Enzymes starl lo re-nature
C. Enzymes work best
D. Enzymes are reactivated

WWW.MDCAT1.COM

Scanned with CamScanner



https://v3.camscanner.com/user/download

Ta.

7.

74,

75.

16.

78.

79.

80.

riluce the ensymen prodoclivity lH'I:lnﬁhlnu the

-__-_‘_- L]
#itering nto the sctive sile due 1o similar shapos;
A Compatilive Inhititois

B Noncompelitive inhibitom
€ Coeonzymos
0. Actwators

When light falls on P-700, which evont is likely to oceur?
A Nlinduces phololysis

B Gains Hydrogen
C  Accept elecirons
D, Ilis oxidised

Which of the following moleculos

aro releasod aftor complotion of light reaction
and then utilized in the dark reaction of photosynthesis? g 9

A, ATP and NADP*
B. ADPand NADP*
C. ADP and NADPM
D ATP and NADPH

Which aro the end p
A ATP and NADPH
B  ATPand glucose
C. Glucose and NADP
D.  ATP and water

roducts of light reactions of photosynthesis?

Synthesis of ATP during photosynthesis takes place at the region:
A Stroma
B. Thylakoid
C. Matrix
D. Cistemnae
The complete, mature and Infectious virus particla is known as:
A, Venome :
B Genome
C.  Virion
D. Capsid
All viruses are:
A, Autolrophs
B. Helerotrophs
C. Parasites
D.  Predators g
—_Increases the pathogenecity of bacteria:
A. Capsule
B. Cellwall
C. Slime
D. Cell membrane .-
L}

The smallest known bacteria belong to the gonus:
A, Mycoplasma
B. Streplococcus
C. Escherichia
D. Bacillus

P\
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Bl.

a7,

G

Large Mlosbing
Slomach
Gall bladg e,

Between tha Primary coly walls
Inner g mwﬁ;’“"" ::;l wall and

b plasma membrane
What distin
guish
» :ﬂhnhrynl}: cell wall trom
: P'mwm e ::: ki) M Fungal cell wall?
E : I;:nhawnu: call wan Elm G, 7o
okaryolic cell wall Conlaing ?ii::a
Pultlnltlun ia facllitatag by:
~ oplasy '
e C ast
- Leucoplasy
Amyloplas|

Tonoplast |s
A. Vmuhmu orane separaling;

ucleoplasm
oplasm and Nucleop

C Vacuole and Stroma s
O Vacuole and Cytoplasm
Each centriole is
A Seven Tnpl.a;umpn'“d of __ of Microtubues:
B.  Eleven Triplets

Nine Triplets

Five Triplets

Cristas
C. Mesosome
D. iInfolds
Acc
Iml::lng to the Muld mosaic madel of cell membrane, which zone is embeddad
A.  Hydrophobic
B, Hydrophilc
C  Globular

D Filamentous
i

Select the one which Is NOT a function of Smooth End le Reticulum [SER)?
A Melabolism of lipids ndoplasmic Reticu

Transmission of impulses |
Transpor of materials
Processing of glycoproleins

vowm:

01803
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WU, W TTVETTRIIT I NUAR RN Ry w e
place by active and passive transport; X
A Lipichs
B Comer Prolens J
C Charged poies
0 Carbohydrales

91, aro spherical sacs, surrounded by a single membrane and contain
hydrolytic enzymos:
A Mitochandria
B Golg Bodies
C Lysosomes

D  Chlooplast
92. Mosl abundant organic compound In mammalian cells are: )
A Water
B,  Lipds
C. Carbohydrales
D. Proteins

93, Thermal stability of organisms In the onvironmeont |s bocause of which
characteristic of waler?

A, Selvenl property
B. Heal capacity

C lonizabon

D.  Prolection

84. C-Hbonds in lipids are Important:
A Asinsulating material
B  Providing more energy
C.  As exoskeleton
D. As culicle of leaves

95. These carbohydrates are swootest among all carbohydrates:

A Monosaccharides

B. Disaccharides

C. 0Oligosacchandes

D. Polysacchandes ¢

ENGLISH
96, | English for five years.

A Study

B. Am Studying

@. Have been studying

D, sludies

97. The soup good

A. Tasle

B Tastes

C. Islasling

0. Haslasle

g8. Unless we now, wa cannol bo on time
A. Btan
B. Wil stan
Do nat slan
D. Asesiating 01303
e - Toa, NG Fage 12 ol 28
b fiﬁ 2 S ———
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g

X

99, Daud is better than of the collego.
A Niteachers
=B Ay teachers
« S Aloiherteachors
D Amyteacher
100, :hidﬂn_r_u'rl tralfic laws lor smoath and safe flow of traffic.
B Wi
G By
D 1o
101, 3
:‘ pr&l:: doath _~ dishonor,
B o©On
c Upon
.
102, What doos th - -
In ﬂtm: Word “SURPLUS* mean?

8. Amathematics
€. Within reach ik

D Sahldation
103. What does " " +
. t'!:l:nl the word SPILL moan?
B  Delver
C. Spail
D. Spread
104, What does the word “CURI
s OUS® meoan?
B,  Carelul
S Quest
D. Cruel

105. Pick the sentence with correct punctuation:
A. He had ona motlo “serving humanity.*
B. He, had one motta, serving humanity.
C.  Hae had one motlo; serving humanity,
D.  He had one mollo: serving humanity.

106. Pick tho word with correct spelling:

A Colique
B. Colleague
C. Collegue
D. Co-leageu

107. Pick the word with correct spelling:
A Aequaintance
B. Equatance
C.  Equanlence
D. Equentensa

\ Page 130l 28
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108. Pick the word with correct spelling: W

108.

110.

11,

112.

113.

114,

115.

A Prayorily

B. Punarily 2
C. Prloarily

D Priority

Pick the sentence with correcl puncluation:
A “He did his best thal was all anyone could do in any job*.

B.  He did his best, Ihat was all anyone could do in any job.
C. "He did his bes!l: that was all anyone could do in any job”.
D “He did his best; that was all anyone could do in any job”.

Pick tho correct option:

A How has lhe chair leg broken?

B. How has the leg of the chair broken?
C. How lhe leg of the chair has broken?
D. How the chair's leg is broken?

CHEMISTRY

Vapor pressure is Indopendent of which factor?
A, Temperature

B. Intermolecular forces

C. Densily of liquid

D. Surface area of liquid

The boiling point of ether Is less as compared to alcohols and phenols due to:

A. Functional group

B. Intermolecular forces
C. Nature of alkyl groups
D. Isomensm

When 2 ice cubes are pressed over each other they unite to form one cube due to:

A. Dipole dipole attraction
B. Cavalent attraction

C. Van Der Waal's forces
D. H-bonding

Which statement correctly describes the structure of sodium chloride crystal?
A Each sodium ion is surrounded by six chloride ions and each chloride ions

surrounded by six sodium ions

B. The crystal is face cenlered cubic structure
C. Each sodium ion is surrounded by 3 chloride ions and each chloride ion

surrounded by 3 sodium jons .
D. Inter molecular forces are present between two opposilely charges ions

The greater Lattice energy is shown by:

A, NaCl

B. NaBr

C. Nal
MaF

16. Thermal conductivity of metals is duo to:

Layered structure of metals

%. i::zwlmuwnu eleclrons
- =0l hold metlal atoms

bratiannl Movamani of melals
Mor
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N

bar

)

ity
ot 1@ high pressure of 200 atm in Haber's process is used for:

-

A Better yeld
B Lower yield
Lawer rale

D Cos!t decrease

118, i‘i which of the followin

Temperature
B Pressure
€. Concentration
Catalyst
118, When tem
Inctscas tn::lﬂraturn of reacting gases Is raised by 10 K, the reaction rata will
Doubla

B, Thiee times
C. Fourtimes
Five times

120. Tho minimum ame

unt al
collisions s caliod: eneray roquired by the colliding particles for eflective

A Actvation energy
B Lattce energy

€. Bond energy

D  Hydration energy

121, Which of the lﬂ-llﬂ'llli'lrlg is not a state
A Pressure (P)
B.  Work (W)
C. Volume (V)
D Temperature (T)

function?

122. Equation represents which energy change?

Mg™(g) + O {g) ——= MgO(s)
A Alomzation
B Neutralization
C Lattce energy

D. Sclubon
123, When nitric oxlde roacts with orone, the order of reaction will be;
A 2m
B, 3
cC 1
D. Zero
124. During electrolysis, reduction always occurs al the:
A Anode
B. Cathode
C. SHE
D. Salt bridge

125. The reason of highest eloctronegativity value of Fluorino is:
A. Complele outermasi shell
B. Ability to form nagative ion
C. Existence as dialomic molecule
D Smaller size and higher nuclear charge in the respeciive penod

Page 150f 28
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126. Valance shol| electron pair repulsion theory explains: (\—‘ﬁ/l
A, Bond Energy

B. Bond Length
C. Shapes and Bond Energy

D.  Shapes
127. Which of the following has sp? hybridization?
4 BF,
B. C:Hi
C. BeCl;
D CH.

128. The factor which |s not affecting bond length Is:
Pressure of muliple bonds
B. Nalure of hybridization presenl

Difference in EE(‘.‘HQHE‘QH.“‘J"}" between the two bonded atoms
lenization energies of Ihe two bonded aloms

125. Which of the followin
A.  Sodium chloride

B. Copper sulphate
C. Mercury

D.  Aluminum

g subslance |s malleable and ductile?

130. Co-ordination number of Na is:

A 10

B. o

C. 8

D. 12

131. The cracking method used to obtain better quality gasoline is:

. Thermal

B. Calalytic

C. Steam

D. Radiations

132. Homocyeclic organle compounds are syh divided into two types Namely;
A.  Alicyclic and Aromalic
B. Open chain and branched chain
Aromatic and non-aromatic
Antiaromatic and antialicyclic

133. Acetophenone can be formed by which of the following reaction of benzeng?

A.  Alkylation
B. Acylalion
C.  Halogenation
D, Nitration
134, Generig formula of cycloalkane |s:
3 HHJ‘M!‘
B C-HHI'H
c Cth.'r
D‘ cﬂnHIn.]
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(R
hich of the lollowing reactions differontiates alcohol from phenol?
Lucas tost
B Halogenations
C  Naration
D Idolorm test

136. The ordor of reactivity of alcohol when C-O bond breaks |s:
A Tertiary alcohol > secondary alcohol > Primary alcohol
B.  Secondary alcohol> pimary alcohol>lertiary alcohal
C  Primary alcohel> secondary alcohal> tertiary alcahol
D, Tertiary alcohal> primary alcohol> secondary alcahol

137. CoH20O is the general formula of:

A,  Ether
B. Carboxylbc acid
C.  Kelones

D Carbole peid

138. Catalytic reduction of aldehyde & Ketone forms:

A Alcohol
B. Carboxylic acid
C. Alkane
D. Aldehyde
139. Which of the following reacts with Carboxylic Acld to form Esler?
A Aldehyde
B. Alkyl Halide
C. Ketones
D  Alcohol

140, Hydrolysis of Nilriles produces:
H.r Carboxylic acid

B  Aldehydes
C. HKetones
D. Esters
141. Whal ia tho mass of sulphurin 2459 of HiS0«7?
A 39
B. 24g
C. 18g
D. 8g
§ moles of Na?
e nqlu;: ?huw many moles of NHj aro preduced from 2.5 M
IHI* IH; ~ 1 1]
A. 25moles
B. 2moles
C. 5moles |
b T od with quantum of radiation Is directly proportiona
assoclated W
143. The amount of anergy
lo: i
A Pholo
B. Wnﬂnlﬁnﬂm
C. Frequency 013{}3
D. velocily
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\ plic B
144, I value of azimuthal gquantum number in 2 thon tolal values l':'" ":"'u:: p
§

number will bo! g b
A, 03 gz P /I < w
B 05 "
c o
D10
145. Total numbaer ol diroctions of [-orbitals In space are:
A 05 .
B. 03
c o7
D. 06

146. Which of the following quantum number Is nat obtained from schrodinger Wave

equation?

A.  Principal Quantum Number
8. Spin Quantum Number

C. Azimuthal Quantum Number
D. Magnetic Quantum Number

147. The electronic configuration for degonarate orbitals is explained by:
A. Aufbau Principle
B. n+lrnle
C. Hund's rule
D. Pauli exclusion principle

148. The idea that molecules in gases aro In constant movement Is called:

Kinelic theory of gases
B. Crystal field theory
C. Molecular orbital theory

D. Transition stale lheory

149. Tha Sl unit for pressure is:

A mmol Hg
B. Pascal
C. Bar
D. Tor
150. Il both tamperature and volume of gas am doubled, tho pressure:
A. Cannal be predicted -
B. s reducedto Ve
¢c. Remains unchanged
pD. Isdoubled
ji
01803
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